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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0

Warning: col ['minFVlraw',

"minFVOraw' ] is missing

minFVI
minFVO

ETcAlraw
ETcA1
ETcA

te

P Warning: col [ETcA2raw’, 'ETcA2'] is missing

0.4

0.6

0.8

Warning: col [ ETcA2raw’,

"ETcA2avg’,

"ETcA2' ] missing

0.0

4500 -

4000

3500

3000 -

2500

2000

ECopt
ECI
ECO

tte

\ Zo—o--o o0 558

1500

f Warning: col [TECC’] is missing

iy S\

-a-a-0

—— R o B~

7.0

Y M

PHopt
PHI
PHO

ttt

Warningt ¢ol ['PHC'] is missing

31.5 A

31.0

30. 5

30. 0 -

29.5 A

29.0

28.5 -

Warning: col [ WCperMraw’,

"WCperMavg' ] is missing

—@— WCperM

0. 50 -

0. 45

0. 40

0. 35 -

0. 30

0. 25 -

0. 20

—@— minDeltaM
—0— avgDeltaM
—@— stdDeltaM

30 -

28 -

26 A

24

22 A

20 A

ad jFVOR

—0. 02 ~

—0. 04 A

Warning: col [adjFVIRraw, "adjFVIR, "adjFVORraw' ] is missing

0.6

0.5 -

0.4 -

0.3 -

0.2~

QQ0.0.0000000000.0..00QO0.0Q.000+QQOOQOOQQOQQOOOOOO|

o ®
[ }
Py [ J

FRA
FRC
FRraw
FR

58 ~

56

54 -

52 A

50 A

48 -

—@— beg wc

0 10

20

30

40

50

300 -

250 -

200 -

150

100 -

50 A

o postFgEtraw
—@— postFgEtavg
—@— postFgEt




FgDai ly

- 100




7\

/"

A\r//

/f\
T
N

M\

\ |/

\_J V
x.//\—\/
//H\ -

A\

N

1

A

N

A/

/ N

\/\/'—4

A

o o o o o o o o o o o N o [ee] © < N o o o o o o o o o o o o o o Lo o Lo o e} o Lo o o o o o o o o
o o o o o o o o o o N N — — — — o o o o o o [Tel o el o [Tp} o o ~ © © Lo Lo < < ™ o o o o o o o o
o © © < N o [>°) © < N w < ™ N — < ™ ™ N N — — [ee) ~ © [Ip] < ™ N —
— —




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

1 1 1 1 1 |
ETcl ETcldef ETcP ETcPT ETclis ESo

| 1
ETol ETbai

pR

1.0

0.8

0.6

0.4

-0.2

-0.0

--0.2



ETcl

ETol

VN

1000 -

° ° ° °
e °® o® S
800 - () E ) ) e e
® o ®e ° ° °o® ° LY
® g ° % °®
600 - ) - () ) ® ®
) ® (X ) (2] (1] [ 14
° S ® o o ° %° o o %, o %o,
° ° ° ° °
400 -
° ° ° ° °
° . ® ° oo . o ® .o o ° o
° ° ° °
200 - ® P .JJ e 1 ® .'. @ ® ..’6 o [} ° ° .é. ’.’ ° o9 .e‘
o® 8e o ®e o ¢® Se_ o o >? 0% ¢ oo
° o ° ° b ® o
T T T T T T T T T T T T T T T T T T T T
1800 - ® ° ° o ° .
«©, ° % g
% ) o ©® ° 099
@ ® %9 0e® ° ® 8% v °
14001 g0 © © o o0 L ) e o®
'f. C () o ‘.6' (
1200 4 L o o
° ° °
10004 @ o ° ® o © o o ®
_ ) () ([ J
80014 o ° °
600
° °
400_ T T T T T T T T T T T T
° ° °
224 e o °® ° S
(] .. [ J .. [ .f:
® 9 ® ® ® e, 2 ®
201 g8 o%® ses 8% « T
° o ° ® o °
° L ° 09
_ 187 e ° ° ° °
16_ [ ] .‘ .. [ ] ) .. ° ° .. o
e o o Y Y Y [
° ° °
14 4
° ° °
° ° °
124@
T T T T T T T T T T T T T
° ° °
70
@ ® o0
60-® ° °
() o ) o o e © ® ® e eo
- w® ®° o o ° % o« %o
= ° ° ° ® ® 9 ° .0 °
50 A ® ..‘ ° o e .f d."
o o o’ ° ° o * % o ° ..:‘o
° ° °
) ® e © e ©
40 1 [ ) e
Q9 R ® 0y 0
° ° °
° ° °
T T T T T T T T T T T T T
1000 + ® ® . ) ® o
800 - -
° ° ° ° °
o ° o ° °
600 - e ¢ ° ] o o ) Se
° ° ° ° °
8 ° ) ® ° e o ° .‘ ® ® ..
° ° ° ° °
400 + ®e C) L4 ° M ] ® o. .'o ® :
() o ® o ® ® ° ) ®
° ° ° ° °
900 4 6).. ) PS ° .. | ) PS e® ° e () PS () PY Y ..
a® o ) 00 o o ° @ o0
".{'o‘o % o .'.o‘ ° o® e PY o®° ore ®e o © ) %e © :ooJ
° ° ° ° °
0w I R %. . o
e ° o € o e® ° ® & [ °
e’ J pe Sige’® **° g0, oF JTTe 0000 e St o f
300 - °% o °® . o of ® P ®° ¢
% ® ® ° ° * @ ° L e® © '. o0 ® °
¢ ° ® o ¢ ° ° ¢ °
% o ° ® ° o °® ® o
200 4 ®e ° ® - ° ® ° %
100 4 -
° ° ° ° °
T T T T T T T T T T T T T T T T T T T T
250 500 750 1000 500 1000 1500 12.5 15.0 17.5 20.0 22.5 40 50 60 70 250 500 750 1000 100 200 300 400
ETcl ETol T RH VN




1750

1500

1250 ~

1000 ~

750

500 -

250 -

obs
Fit

100 150

baiB

1.0

0.0316

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6 0.8

1.

obs

1000

800 -

600

400 ~

200 -

Fit vs obs: a=1.23, b=-110.94

r=0. 87

Re

1.0

Fit

600

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2 0.4 0.6

0.8

1.

0



100

8:50
80
9:50
60
E 11:25
40
12:55
20
14:30
I I I I -0




P3-6

BYE) | GEBERTIC (B)) | EBE (EAH/#K) | KB SR

08:50 241 130.0 FH| FHA@08:50 KRENFZF (KRFAIREES)
09:50 241 130.0 FA| FHR@09:50 KREFZHF (RAKZESR)
11:25 241 130.0 FA| FiHAe11:25 KREFEF (REAEHS)
12:55 241 130.0 FA| FnHR@12:55 REIEF (REAERES)
14:30 241 130.0 FA| FnHA@14:30 KREFEF (KRBIEREE
2it]1205.0 (5%) 650. 0 32 KEC: 2080.0, PH: 5.7

REREBTEC (2700.0) HiZZEEC (2000.0) REK K, HHE
#[EKECE (2700.0 vs 3980.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=34 (2025-05-02)

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

920
00

182

749

00 00

- 1500

- 1000

- 500

FRV (ml d-1)

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=5.7

200

100 -

ByWoFv @D3

I " —

02:51: ET=749 Fg=650.0 Ro=27.0

- 1000

- 750

- 500

cumET (ml/plant)

- 250

1.0

TREEN

FA

A

A

A

PR | BA | BH | BA | BA [ P | BA [ BA | PR | BA [ BA | FPA | BA [ FA 5| R | R | BR

0.6 1

0.4+

0.2~

800 4
600 4
400 -

200 -

o

A\ Warfing: ol I

"PPFD_obs’] is missing

25 4

20 A

15 4

"To_obs'] is missing

Warning: lcol ['RH_obs’,

"RHo_obs’] is missi

0.2

0.4 0.6 0.8 1.

0



hour

8:40

9:40

11:20

12:45

13:55

15:10

100

80

60

40

20



P3-6

BfiE) | EBETK (D) | EE (EH/AR) | XK SR

08:40 234 110.0 & =| 1Ri%e08:40 Bz (kPBEREEE)
09:40 234 110.0 (& =| 1BRiB@09:40 Bzh (REERESR)
11:20 234 110.0 =l {Rige11:20 B3 (RAERSE)
12:45 234 110.0 =] Ri%e12:45 B (REAERSE)
13:55 234 110.0 | 1Rike13:55 Bz (REAERES)
15:10 234 110.0 E| {Rige15:10 Bzh (RE{EREE)
Bt 1404.0 (6%) 660. 0 32 KEC: 2080.0, PH: 6.0

EOREBRTK (300) 5 FEA (204. 0) R, FIRER T % @REI#EIRS X XER

ZRIALPRIERE162.0 ml.

REREEBIEC (2757.0) HiZTEEC (2000.0) REK K, HHEE

#H[ERECE (2757.0 vs 3930.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=33 (2025-05-01)

_____________________________________________________________________________________ - 1500
1004 VI, V0, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1269
060
75 - 920 - 1000
700 822 736
50 24
- 500
25
175 Warning: lcol [FVI',| "FVO’'] missing 182
01 -
¢ o vi — ME 930
200 - FRV maxM
B 28 [TH]
] S . T T I T N 10 SO S A :
I - 26
1.0 1 24
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
808_ R I 4
Bylnit @D34: 02:51: ET=1239 Fg=1200.0 Ro=29.0
, L 1500
200 A |
: - 1000
1
- /' \
1
I e |
308— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
T T 0 0 T 0 0 0 O
1
200 4 ByEt @D33 18:44: ET=888 Fg=1060. 0 Ro=nan :
: & o & O
100 - L 500

308— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

i | B | BB | B | BB |22 B 5 5 i 5 5 IR EREEREEEAEEEERES 1500
1
200 4 ByWoFv @D3ﬂ 02:51: ET=736 [Fg=660.0 Ro=25.0
: - 1000
1 - 500
1 ¥
1
R .
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
ol BB | B | B | B |BE|B (2252525 B 5 5 i 5 5 R EREEREEEAEEEERES
0.6 -
0.4 1
0.2 A
0.0
1500 4 — | A
[ ] | _obs
1000 4 —&— PPFD_obs
500 A
i LA

25 1 —_ T 4
o T obs
o

20 1 To_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



26.

26.

25.

25.

24.

26.

25.

25.

25.

26.

26.

26.

26.

25.

25.

22.

22.

22.

22.

22.

22.

22.

T T T T
400 600 800 1000

m=670,m FV0=0

—O—

i

670

6;5 6é0
m=1055q FV0=0

—o— M_E

(2] [e] o N £ [=>]
| | | | | |

1055

1660 1665
m=490,n FV0=0

801 o mw
75
70
65
60
55 -

50 -

i
il
il

490

495 500

25.75 A

25. 50 A

25. 25 A

25. 00 A

24.75 A

26.

26.

25.

25.

25.

25.

26.

26.

26.

26.

25.

23. 30 A

23. 25 A

23. 20 A

23.15 A

23.10 A

m=430, FV0=0

-0 ME

i

430

T T
435 440

m=750,m FV0=0

—0—

T T
755 760

m=1060m FVO0=0

—0—

1060

1065 1070

m=595,m FV0=0

-o— MW

595

600 605

m=490, FV0=0
26. 1 4 -
26.0
25.9 A
25. 8
25.7 A
T T T
490 495 500
m=820,m FV0=0
—0—
26. 2
26. 0
25. 8
25.6
T T
820 825 830
m
- MW
24.5
24.0 ~
23. 5
23.0 A
22.5 A
22.0
400 600 800 1000
m=670,m FV0=0
23. 50 A ~
23. 45 -
23. 40 ~
23. 35 A
23. 30 A
670 675 680

26.

25.

25.

25.

25.

25.

26.

26.

26.

25.

25.

25.

22.

22.

22.

22.

22.

22.

22.

23.

23.

23.

23.

23.

23.

m=595, FV0=0

—0—

T T
600 605

m=915,m FV0=0

—O—

T T
920 925

m=430,m FV0=0

30

25 -

20

15 1

10 4

05 A

00 -

430

435 440

m=750,m FV0=0

60

58 -

96

54 -

52 -

50 -

—— MW

750

755 760




m=820, FV0=0

23.90 A —— MW
23. 85 A
23. 80 A
23. 75 A
23.70 A
8é0 8é5 850

m=915, FV0=0
24.00 A - MW
23. 98 A
23. 96 A
23. 94 A
23. 92 A
23.90 A
T T T
915 920 925

m=1053, FV0=0

24. 00 ~

23. 98 A

23. 96

23. 94 ~

23.92

23. 90 A

—o—

M_W

T
1055

T
1060

T
1065

m=1060, FV0=0
24.2 4 - MW
24.1 4
24.0 A
23.9 A
23. 8 A
T T T
1060 1065 1070




hour

:00 -

125 -

145

145

145

:30

015

115

100



P3-6

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS R

06:45 212 110.0 |Z=| 1BRi%006:45 Bzh (REERESE)
07:45 212 110.0 (& =| (Ri%@07:45 Bz (REERSE)
08:45 212 110.0 | =| 1Ri%e08:45 Bz (kBEREE)
10:30 212 110.0 FA| {Ri%@10:30 Bz (RAEEEE)
12:15 212 110.0 FA| 1BRig@12:15 Bzh (RABERSE)
14:15 212 110.0 Al 1Ri&e14:15 Bzh (RAERSE)
Bt 1272.0 (62%) 660. 0 32 KEC: 2080.0, PH: 6.0

FEREHER 2 STEIELRF (137.0 -

ERIASSPRIERE114.0 ml.

large discrepency for begining water status (265:138.0), set to 265 ml.

114.0), AIEERT—@E XA 5

FERZEBIEC (2710.0) Hi&TEEC (2000.0) REIRKA, BH/E

#HERECE (2710.0 vs 4020.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

100 A

75 1

50 A

25 A

150 A

100 A

50 -

1.

300 -

200 -

100 A

300 - 1

200 -

100 A

300 -

200 -

100 A

1.

0.8

0.6

0.4+

0.2~

0.0

P3-6_0, Day=32 (2025-04-30)

(¢

VI, VPRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET
1090

739 700 84

100 Warning: lcol ['FVI',| "FVO'] missing 178

-0
4 30

- 28
- 26

- 24

0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

0 P—ap

]
Bylnit @D34) 02:51: ET=665 Fg=550.0 Ro=3.0

1
} o
-t"?"“““

— \r B—
P P — a —

T
()]
(=]
o

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 95

55|55 |(%=| BB | KB | kBB | k5 | B | FH | B [ B [ BA [ BA [ BA [ B | BA | A | A | B5 | K5 | BB | B | BF [ FR

ByEt @D32 18:32: ET=758 Fg=684.0 Ro=nan

s & & o

- 10

T
()]
(=]
o

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 95

0 1

55|35 (375|252 |25 |% %% | H [ A [ BA [ BA [ BA | BA | BA | B | BB | BB |BE|5E|ER(E5E[(5E

—+—8—8 8 $§ & ¢ o

- 10

T
()]
(=]
o

15 16 17 18 19 20 21 22 23

RN AR REF S EF A HESS

—_—
[ ] | _obs
—@— PPFD obs

- 1500

- 1000

- 500

M_E

- 1500
7

- 1000

00

00

00

00

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26.0

25.5 -

25.0 -

24.5

M_E

T
600

T
700

T T
800 900

m=735,m FV0=0

25. 80 A

25.75

25.70 A

25. 65

25. 60 ~

—o— ME

735

T
740

T
745

m=550,m FV0=0

21.5

21.0

20. 5

20.0 -

19.5

—o— MW

550

555

560

m=790,m FV0=0

20. 40 ~

20. 38

20. 36

20. 34

20. 32 A

20. 30

—— MW

790

795

800

25.

25.

24.

24.

24.

26.

25.

25.

25.

20.

20.

20.

20.

20.

20.

21.

20.

20.

20.

20.

m=530, FV0=0

—o— ME
2 .
0 .
8 .
6 .
4 .
T T T
550 555 560
m=790,m FV0=0
01 —o— ME
8 .
6 .
4 .
T T T
790 795 800
m=605,m FV0=0
407 —— MW
38
36
34
32
30
605 610 615
m=895,m FV0=0
00 17 —@— MW
95
90
85
80

895 900 905

25.

25.

25.

25.

25.

25.

26.

26.

26.

25.

25.

25.

25.

21.

20.

20.

19.

m=605, FV0=0

-o— ME

6i0 6%5
m=895,n FV0=0

—o— ME

960 965
m=675,n FV0=0

895

—o— MW

i
i

675 680 685

25.

25.

25.

25.

21.

21.

21.

20.

20.

20.

20.

21.

20.

20.

19.

m=675, FV0=0

675

M_W

T T T
700 800 900

m=735,m FV0=0

T
600

—— MW

735 740 745




hour

:00 -

105 -

105

105

105

105

:35

:10

:50

:00

140

100

80

- 60

- 40

20

‘%‘% "/é 4 S




P3-6

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

06:05 212 100.0 (Z=| 1Bi&e06:05 Bzh (REERSE)
07:05 212 100.0 FA| 1Bi&@07:05 B3 (KAFEREEE)
08:05 212 100.0 (& =| 1Ri%e08:05 Bz (KAEREEE)
09:05 212 100.0 S| {Ri%@09:05 Bz (FAERSE)
10:35 212 100.0 = {RRi8@10:35 B (REAEEE)
12:10 212 100.0 =l RiBe12:10 Bz (REAEEE)
13:50 212 100.0 5| {Ri%e13:50 B3 (RAERSE)
15:00 212 100.0 =l RRiB@15:00 B (RFAEEE)
16:40 212 100.0 E| {Rig016:40 B3h (GRE{ERSE)
21t]1908.0 (97%) 900. 0 3203 %EC: 2080.0, PH: 6.0

EREBRTK (300) S5 FuEA (185. 0) R, FIREM T % WEI#ERS X XER

ZRIALPRIERE162.0 ml.

REREEBIEC (2663.0) S5iZTEEC (2000.0) REK KA, HHEE

##[EKECE (2663.0 vs 3960.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

iy

ET (ml/hr/plant)

P3-6_0, Day=31 (2025-04-29)

R S e T TP e e
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1938 1 o
75 4 1090

50 - 810 - 1000

680 655 94

25 A - 500

Warning: lcol ['FVI',| "FVO'] missing 100

Vi — ME $30

maxM

200 -

100

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

1
4004 Byinit @034 02:51: ET=858 Fg=990.0 Ro=4.0 #1500

® @ ® ® - 1000

- 500

1
I
1
I
i
|
|
- |
100 & © o \[\
1
| SEE el |
T 1 21314156789 [0 B[4 [16 ] 7 [ B[ ]20]2]20]20

% | % | M | B | #5 | B | B | f5 | B | #5 | W& | BE | m& | B3 | °s | & | BE | m& | BE | #5 | B& | Bs | m& [ 1900

300 1 ByEt @D31 18:48: ET=783 Fg=1123.0 Ro=nan :0 —@ —o

- 1000
200 -

i
1
100 - : 500
p—O & o—@ o— 1
I i |
0P o o P N — ———— 0
400 <4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

I O O O O = L 2 O O

]
300 1 ByWoFyv @D3ﬂ 02:51: ET=694 Fg=900.0 Ro=24.0 1000

200 -
- 500

1.0 P _la PN T,MT\F¥ 0
1 2 3 4

E3 E3 ES ES E3 E3 — — E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
0.8 fA H5 H5 i i B | 25| B |5=]| B 5 5 B B 5 5 B B 5 A B 5 G A

ET (ml/hr/plant)

0.6

0.4+

0.2~

0.0
1500 {

—_— 4
[ ] | _obs

1000 - —@— PPFD obs

500 A

60 -
40 - N
— RH

® RH obs o

20 7 (] RHo_obs

n”' e v P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



M_E

24.

24.

24.

24. 05 A

24. 00

23. 95 A

23. 90 A

24.5

24.0

23.5 -

23.0 -

22.10

22.08

22.06

22.04

22.02

22.00

T T T T
600 800 1000 1200

m=535,m FV0=0

T
400

—o— ME

i
i

5&0 5&5
m=1040m FV0=0

1d45 1650
m=390,n FV0=0

1040

-— MW

i

390 395 400

23.

23.

22.

22.

22.

22.

21.

24.

23.

23.

23.

23.

22.

25.2 A

25.0 A

24.8 -

24.6

22.

21.

21.

21.

21.

21.

m=390, FV0=0

25 4

00 -

75 -

50

25 A

00 -

M_E

75 -

T T
390 395 400

m=675,m FV0=0

00 -

75 1

50 A

25 A

00 -

75 A

—o— ME

GéO 6é5
m=1060n FV0=0

—o— ME

-

10%5 1d70
m=450,n FV0=0

1060

M_W

450 455 460

24.

24.

24.

24.

23.

23.

22.

22.

22.

22.

22.

21.

25.

25.

25.

25.

25.

25.

25.

21.

21.

21.

21.

21,

21.

m=450, FV0=0

6 -

4 4

2 4

0 -

il

-o— ME

465 460
m=845,n FV0=0

860 8%5
m=1160m FV0=0

70

65

60

55 ~

50 -

45 ~

40 -

—0— ME

1160

11%5 1130
m=510,n FV0=0

70

68

66

64

62

60 -

-
—

-— MW

510

515 520

24.

24.

24.

24,

24.

24,

23.

23.

23.

22.

22.

22.

21.

21.

21.

21.

21,

21.

m=510, FV0=0

—o— M_E

T T
510 515 520

m=915,m FV0=0

1 —om

M_E

\

22 -

21 -

20

19 +

18 4

600 800 1000 1200

m=539,m FV0=0

400

60

58 -

96

54

52 -

50 -

—0— MW

535 540 545



m=675, FV0=0

21.00 A

20. 98 ~

20. 96

20. 94 ~

20. 92

20. 90 A

—0—

M_W

675

650
m=1060n FV0=0

T
685

19.0 A

18. 8

18.6

18. 4

18. 2

—0—

M_W

T
1060

T
1065

T
1070

19.

19.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

m=845, FV0=0

70

68

66 -

64

62

60 -

—O—

M_W

845

8%0
m=1160m FV0=0

T
855

20 A

18

16 1

14

12

10

- MW

T
1160

T
1165

T
1170

m=915, FV0=0

19.10 -

19. 08 -

19. 06

19. 04

19. 02

19. 00 -

M_W

915

T T
920 925

19.0 4

18.5 A

18. 0 A

17.5 4

m=1040, FV0=0

—0—

M_W

T T
1040 1045

T
1050




hour

100

:00 -
145
80
145
145 - 60
55
140 - 40
:00
20
:10
125
I I I I I I I -0
B b & B 0B % S
é§¥ & %ﬁ» & & 4? %;5 %gr



P3-6

BfiE) | GEBIATK (7)) | EBE (EA/HK) | XK R

06:45 210 100.0 = {RRiB006:45 Fzh (FRFAEEE)
07:45 210 100. 0 5| 1Ri%e07:45 FH (REEREE)
08:45 210 100. 0 | 1Ri%e08:45 F i (RFEAHEREE)
09:55 210 100.0 = {BRiB@09:55 Fzh (FRFAEEE)
11:40 210 100.0 E BRige11:40 Fzh CGRAERESE)
13:00 210 100.0 F BRi%e13:00 Fz1 (RAERESE)
14:10 210 100.0 E| {Rige14:10 Fzh (RE{EREE)
15:25 210 100.0 =l RRiB015:25 Fz (REAKEE)
=2it]1680.0 (8%) 800. 0 3 HKEC: 2080.0, PH: 6.0

EREBRK (210) 5FuEA (185. 0) R, FIREM T % WEIEIRS X XER

ZRIALPRIERE113.0 ml.

REREEBIEC (2620.0) 5% TEEC (2000.0) REK KA, HHE

##[EKECE (2620.0 vs 3600.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=30 (2025-04-28)

100 F=————= F————t 5]
V1, VBIBRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET | 800
15| 680 o8t 680  No7864 ~
- 600 ©
501 L 400
>
&
25 1 - 200
44 Warning: lcol ["FVI',|"FVO'] missing 18
0 — -0
150 4 = 430. 0
-27.5
100 A L
L 25.0 =
501 L 22,5
1.0 20.0
n
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
; 109.60. ET— _ _ n
3004 Bylnit @D34; 02:52: ET=800 Fg=1100.0 Ro=195.0 [ 1500 o
: &
a
200 1 : e L 1000
1 E
! —
100 - | - 500 '
- G N 3
— 1t 1 1
1
0 PN o lo & e 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
300d B B | B | B | B | BB |B|B| B B 5 5 5 B 5 5 5 5 5 5 5 5 5 | 1500 &
&
o
200 - - 1000 >
E
'—
100 - 500 £
S
[&]
0 1 0
300 - - 1500 &
[
=
o
200 - - 1000 >
E
'—
100 - 500 £
S
[&]
1.0 0
0. 8
0.6 -
0.4
0.2 A
0.0
1500 { —_ A
[ ] | _obs
1000 —@— PPFD obs
500
0




24

23 A

22 A

M_E

T T T T
600 700 800 900

m=720,m FV0=0

24.0 -

23. 8

23.6

23. 4 -

25.

24.

24,

24.

24.

23.

23.

23.

23.

23.

23.

—o— ME

i

7é5 750
m=510,n FV0=0

00 ~

95 -

90

85 A

80 -

—0— MW

i

5%5 550
m=780,n FV0=0

30 A

28 -

26 A

24 -

22 -

20 -

—

—0— MW

785 790

m=510, FV0=0

22.4
22.2
22.0
21.8
21.6
21.4 WE
T T T
510 515 520
m=780,m FV0=0
2441 o
24.2
24.0 -
23.8
23.6
T T T
780 785 790
m=600,m FV0=0
24. 20 - ~——
24.18
24.16
24.14
24.12 4
24.10
600 605 610
m=840,m FV0=0
—— MW
24.0
23.5
0-0-0-0-0-0-0-0-0-0-0-0-0-0-0
23.0
22.5
22.0 4

840 845 850

22.

22.

22.

22.

22.

21.

24.

24.

24.

24.

23.

23.

23.

23.

23.

23.

m=600, FV0=0

—e— ME

600

605
m=840,n FV0=0

T
610

—0—

M_E

840

845
m=660,n FV0=0

T
850

70

68

66

64

62

60

—— MW

660

665

670

m=660, FV0=0

24.

23.

23.

23.

23.

23.

—o—

M_E

660

665

670

25.

24,

24.

23.

—— MW

660 760
m=720,n FV0=0

T
800

900

23. 50 A

23. 45 A

23. 40 A

23. 35 A

23. 30 A

—— MW

720

725

730



